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1. The ratio of magnetization (Mሬሬሬ⃗ ) 

and magnetic field strength (Hሬሬ⃗ ) is 

called as : 

(A)   Magnetic susceptibility 

(B) Magnetic permeability 

(C) Relative permeability 

(D) Hysteresis loss 

 1. pqEcdu (Mሬሬሬ⃗ ) rFkk pqEcdh; {ks= ‘kfDr (Hሬሬ⃗ ) 

ds vuqikr dks dgk tkrk gS % 

(A) pqEcdh; lqxzkfgrk 

(B) pqEcdh; ikjxE;rk 

(C) vkisf{kd ikjxE;rk 

(D) ‘kSfFkY; gkfu 

2. Which is equal to difference 

between relative permeability (μ୰) 

and magnetic susceptibility (χୣ) ? 

(A)   10ି଻ 

(B) 4π 

(C) 1 

(D) 10ା଻ 

 2. vkisf{kd ikjxE;rk (μ୰) vkSj pqEcdh; 

lqxzkfgrk (χୣ) dk vUrj fdlds cjkcj 

gksrk gS \ 

(A)   10ି଻ 

(B) 4π 

(C) 1 

(D) 10ା଻ 

3. What will be nature of graph 
between magnetic susceptibility 
and temperature as per Curie-law 
for para-magnetic material ? 
(A)   Straight line 
(B) Exponential 
(C) Parabola 
(D) Rectangular hyperbola 

 3. vuqpqEcdh; inkFkZ gsrq D;wjh fu;e ds 

vuqlkj] pqEcdh; lqxzkfgrk vkSj rki ds e/; 

xzkQ dh izÑfr D;k gksxh \ 

(A) lh/kh js[kk 

(B) pj?kkrkadh; 

(C) ijoy; 

(D) ledks.kh; vfrijoy; 

4. Which one is mathematical form 
of Curie-Weiss law ? 

(A)   χ୫ = େ
୘
 

(B) χ୫ = େ
୘ା୘ౙ

 

(C) χ୫ = େ
୘ି୘ౙ

 

(D) χ୫ = େ
୘±୘ౙ

 

 4. D;wjh&ohl fu;e dk xf.krh; :i dkSu lk 

gS \ 

(A)   χ୫ = େ
୘
 

(B) χ୫ = େ
୘ା୘ౙ

 

(C) χ୫ = େ
୘ି୘ౙ

 

(D) χ୫ = େ
୘±୘ౙ
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5. Find the ratio of magnetic 
susceptibilities of a diamagnetic 
material Cu at temperatures 200 K 
and 400 K : 
(A)   1: 1 
(B) 1: 2 
(C) 2: 1 
(D) 4: 1 

 5. rkiksa 200 K rFkk 400 K ij izfrpqEcdh; 

inkFkZ Cu ds pqEcdh; lqxzkfgrkvksa dk 

vuqikr Kkr dhft,A 

(A)   1: 1 
(B) 1: 2 
(C) 2: 1 
(D) 4: 1 

6. Langevin’s function L(a) is equal 
to : 

(A)   L(a) = cos h (a) − ଵ
ୟ
 

(B) L(a) = cot h (a) − ଵ
ୟ
 

(C) L(a) = tan h (a) − ଵ
ୟ
 

(D) L(a) = cot h (a) + ଵ
ୟ
 

 6. ySaxsfou Qyu L(a)cjkcj gksrk gS % 

(A)   L(a) = cos h (a) − ଵ
ୟ
 

(B) L(a) = cot h (a) − ଵ
ୟ
 

(C) L(a) = tan h (a) − ଵ
ୟ
 

(D) L(a) = cot h (a) + ଵ
ୟ
 

7. Which equation is used to 

determine the hysteresis loss ? 

(A)   W = μ଴ ∮H dM        

(B) W = ∮H dB 

(C) W = μ଴ ∮H dB 

(D) Both (A) and (B) 

 7. fdl lehdj.k dks ‘kSfFkY; gkfu Kkr djus 

ds fy, iz;ksx fd;k tkrk gS \ 

(A)   W = μ଴ ∮H dM        

(B) W = ∮H dB 

(C) W = μ଴ ∮H dB 

(D) nksuksa (A) vkSj (B)  

8. The magnetic flux linked with a 
coil is function of time ‘t’ and is 
equal to 4tଶ + 8. Find the 
magnitude of induced e.m.f. after 2 
sec.  
(A)   8 volt 
(B) 16 volt 
(C) 24 volt 
(D) 32 volt 

 8. ,d dq.Myh ls c) pqEcdh; ¶yDl le; 

‘t’ dk Qyu gS rFkk 4tଶ + 8 ds cjkcj gSA 

2 lsds.M ckn izsfjr foŒ okŒ cy ds ifjek.k 

dks Kkr dhft,A 

(A) 8 oksYV 

(B) 16 oksYV 

(C) 24 oksYV 

(D) 32 oksYV 
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9. Which phenomenon is not due to 
electromagnetic induction ? 
(A)   Skin effect 
(B) Eddy current 
(C) Back e.m.f. 
(D) Faraday rotation 

 9. dkSu lh ?kVuk fo|qrpqEcdh; izsj.k ds dkj.k 

ugha gS \ 

(A) fLdu ¼lrg½ izHkko 

(B) Hk¡oj /kkjk 

(C) fojks/kh foŒ okŒ cy 

(D) QSjkMs ?kw.kZu 

10. A rod of length L is rotating with 
angular frequency ω in transverse 
magnetic field B. What will be the 
induced e.m.f. across rod ? 
(A)   ωBଶL 
(B) ωଶBL 

(C) ଵ
ଶ
ωBLଶ 

(D) ଵ
ଶ
ωBଶL 

 10. yEckbZ L dk ,d NM+] vfHkyEcor pqEcdh; 

{ks= B esa ω dks.kh; vkòfÙk ls ?kwe jgk gSA 

NM+ esa mRiUu izsfjr foŒ okŒ cy D;k gksxk\ 

(A)   ωBଶL 
(B) ωଶBL 

(C) ଵ
ଶ
ωBLଶ 

(D) ଵ
ଶ
ωBଶL 

11. What is determined by Lenz’s 
law? 
(A)   Direction of magnetic field 
(B) Direction of induced current 
(C) Direction of induced e.m.f. 
(D) Both (B) and (C) 

 11. ysUt ds fu;e }kjk D;k Kkr fd;k tkrk 

gS\ 

(A) pqEcdh; {ks= dh fn’kk 

(B) izsfjr /kkjk dh fn’kk 

(C) izsfjr foŒ okŒ cy dh fn’kk 

(D) nksuksa (B) vkSj (C) 
12. Which equation does not satisfy 

the Faraday’s Law of 
electromagnetic induction ?  

(A)   ∇ሬሬ⃗ ⋅ Eሬሬ⃗ = − ୢம
ୢ୲

 

(B) emf = − ୢம
ୢ୲

 

(C) ∫ Eሬሬ⃗ ⋅ dlሬሬሬ⃗ = −∫ ୢ୆ሬሬ⃗

ୢ୲
⋅ dSሬሬሬሬ⃗  

(D) ∇ሬሬ⃗ × Eሬሬ⃗ = − ୢ୆ሬሬ⃗

ୢ୲
 

 12. dkSu lk lehdj.k] fo|qr pqEcdh; izsj.k ls 

lEcfU/kr QSjkMs ds fu;e dks lR;kfir ugha 

djrk gS \ 

(A)   ∇ሬሬ⃗ ⋅ Eሬሬ⃗ = − ୢம
ୢ୲

 

(B) emf = − ୢம
ୢ୲

 

(C) ∫ Eሬሬ⃗ ⋅ dlሬሬሬ⃗ = −∫ ୢ୆ሬሬ⃗

ୢ୲
⋅ dSሬሬሬሬ⃗  

(D) ∇ሬሬ⃗ × Eሬሬ⃗ = − ୢ୆ሬሬ⃗

ୢ୲
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13. What is mathematical form of 

Reciprocity theorem ? 

(A)   M = ඥLଵLଶ 

(B) M = KඥLଵLଶ 

(C) Mଵଶ ≠ Mଶଵ 

(D) Mଵଶ = Mଶଵ 

 13. jslhizksflVh izes; dk xf.krh; :i D;k gS \ 

(A)   M = ඥLଵLଶ 

(B) M = KඥLଵLଶ 

(C) Mଵଶ ≠ Mଶଵ 

(D) Mଵଶ = Mଶଵ 

14. Which equation represents the law 

of conservation of charge ? 

(A)   ∇ሬሬ⃗ ⋅ J⃗ − ୢ஡
ୢ୲

= 0 

(B) ∇ሬሬ⃗ ⋅ J⃗ + ୢ஡
ୢ୲

= 0 

(C) ∇ሬሬ⃗ ⋅ J⃗ = 0 

(D) ୢ஡
ୢ୲

= 0 

 14. dkSu lk lehdj.k vkos’k laj{k.k ds fu;e 

dks iznf’kZr djrk gS \ 

(A)   ∇ሬሬ⃗ ⋅ J⃗ − ୢ஡
ୢ୲

= 0 

(B) ∇ሬሬ⃗ ⋅ J⃗ + ୢ஡
ୢ୲

= 0 

(C) ∇ሬሬ⃗ ⋅ J⃗ = 0 

(D) ୢ஡
ୢ୲

= 0 

15. Which amount of magnetic flux is 

linked with an electron rotating in 

circular orbit radius R in Betatron? 

(A)   ଵ
ଶ
πRଶB 

(B) πRଶB 

(C) 2πRଶB 

(D) 3πRଶB 

 15. chVkVªkWu esa] R f=T;k ds oÙ̀kh; d{kk esa 

?kw.kZu djrs gq, bysDVªku ls c) pqEcdh; 

¶yDl dh fdruh ek=k gksrh gS \ 

(A)   ଵ
ଶ
πRଶB 

(B) πRଶB 

(C) 2πRଶB 

(D) 3πRଶB 
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16. A circular conducting coil of 

radius r is placed in transverse 

time varying magnetic field B. 

What will be the value of induced 

electric field in the coil ? 

(A)   Eሬሬ⃗ = − ୰
ଶ
ୢ୆ሬሬ⃗

ୢ୲
 

(B) Eሬሬ⃗ = ଵ
ଶ୰

ୢ୆ሬሬ⃗

ୢ୲
 

(C) Eሬሬ⃗ = − ୰
ସ
ୢ୆ሬሬ⃗

ୢ୲
 

(D) Eሬሬ⃗ = −r ୢ୆
ሬሬ⃗

ୢ୲
 

 16. f=T;k r dh ,d òÙkh; pkyd dq.Myh] 

vuqizLFk le; ifjorhZ pqEcdh; {ks= B esa 

j[kk gSA dq.Myh esa mRiUu izsfjr fo|qr {ks= 

dk eku D;k gksxk \ 

(A)   Eሬሬ⃗ = − ୰
ଶ
ୢ୆ሬሬ⃗

ୢ୲
 

(B) Eሬሬ⃗ = ଵ
ଶ୰

ୢ୆ሬሬ⃗

ୢ୲
 

(C) Eሬሬ⃗ = − ୰
ସ
ୢ୆ሬሬ⃗

ୢ୲
 

(D) Eሬሬ⃗ = −r ୢ୆
ሬሬ⃗

ୢ୲
 

17. Which phenomenon is responsible 

for the total flow of high frequency 

electric current through surface of 

wire ? 

(A)   Faraday rotation 

(B) Electromagnetic induction 

(C) Eddy current 

(D) Maxwell effect 

 17. vf/kd vkòfÙk dh fo|qr /kkjk dk iw.kZr% rkj 

ds lrg ls izokfgr gksus gsrq dkSu lh ?kVuk 

ftEesnkj gksrh gS \ 

(A) QSjkMs ?kw.kZu 

(B) fo|qrpqEcdh; izsj.k 

(C) Hk¡oj /kkjk 

(D) eSDlosy izHkko 

18. The two solenoids have same 

length and radius. If ratio of 

number of turns per unit length for 

them is 3 ∶ 2 then find the ratio of 

their self inductances : 

(A)   3 ∶ 2 

(B) 2 ∶ 3 

(C) 9 ∶ 4 

(D) 4 ∶ 9 

 18. nks ifjukfydkvksa dh yEckbZ o f=T;k;sa 

leku gSaA ;fn muds izfr ,dkad yEckbZ esa 

pØksa dh la[;kvksa dk vuqikr 3 ∶ 2 gks rks 

muds LoizsjdRoksa dk vuqikr Kkr dhft, % 

(A)   3 ∶ 2 

(B) 2 ∶ 3 

(C) 9 ∶ 4 

(D) 4 ∶ 9 
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19. Which is the correct expression of 

displacement current ? 

(A)   iୈ = ϵ଴
ୢୈ
ୢ୲

 

(B) iୈ = ϵ଴A ୢ୉
ୢ୲

 

(C) iୈ = ϵ଴
ୢ୉
ୢ୲

 

(D) iୈ = ϵ଴A ୢୈ
ୢ୲

 

 19. foLFkkiu /kkjk dk lgh O;atd dkSu lk gS \ 

(A)   iୈ = ϵ଴
ୢୈ
ୢ୲

 

(B) iୈ = ϵ଴A ୢ୉
ୢ୲

 

(C) iୈ = ϵ଴
ୢ୉
ୢ୲

 

(D) iୈ = ϵ଴A ୢୈ
ୢ୲

 

20. The induced emf can be developed 

if : 

(A)   Magnetic field is variable. 

(B) Area of coil is variable. 

(C) Orientation of coil in 

magnetic field is variable.   

(D) All above 

 20. izsfjr foŒ okŒ cy mRiUu gks ldrk gS ;fn% 

(A) pqEcdh; {ks= ifjorhZ gksA 

(B) dq.Myh ds {ks=Qy ifjorhZ gksA 

(C) pqEcdh; {ks= esa dq.Myh dk >qdko 

ifjorhZ gksA 

(D) mi;qZDr lHkh 

21. The two coils have Lଵand Lଶ self 

inductances. If they are connected 

in series and have M mutual 

inductance between them, then 

what will be the equivalent 

inductance of both coils ? 

(A)   Lଵ + Lଶ ± 2M 

(B) Lଵ + Lଶ ∓ 2M 

(C) Lଵ + Lଶ ± M 

(D) Lଵ + Lଶ ∓ M 

 21. nks dq.Mfy;ksa ds LoizsjdRo Lଵ rFkk Lଶ gSaA 

;fn os Js.kh Øe esa tqMs+ gks rFkk muds chp 

vU;ksU; izsjdRo M gks rks nksuksa dq.Mfy;ksa 

dk ifj.kkeh izsjdRo D;k gksxk \ 

(A)   Lଵ + Lଶ ± 2M 

(B) Lଵ + Lଶ ∓ 2M 

(C) Lଵ + Lଶ ± M 

(D) Lଵ + Lଶ ∓ M 
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22. A solenoid has n number of turns 

per unit length and i current is 

flowing through it. What will be 

the energy stored in unit volume of 

it ? 

(A)   μ଴ଶni 

(B) μ଴nଶiଶ 

(C) ଵ
ଶ
μ଴nଶiଶ 

(D) ଵ
ଶ
μ଴ଶnଶiଶ 

 22. ,d ifjukfydk ds ,dkad yEckbZ esa pDdjksa 

dh la[;k n gS rFkk blesa i /kkjk izokfgr gks 

jgh gSA blds ,dkad vk;ru esa lafpr ÅtkZ 

D;k gksxh \ 

(A)   μ଴ଶni 

(B) μ଴nଶiଶ 

(C) ଵ
ଶ
μ଴nଶiଶ 

(D) ଵ
ଶ
μ଴ଶnଶiଶ 

23. Which expression is not a 

Maxwell equation ? 

(A)   ∇ሬሬ⃗ ⋅ Dሬሬ⃗ = ρ  

(B) ∇ሬሬ⃗ ⋅ Hሬሬ⃗ = 0 

(C) ∇ሬሬ⃗ × Aሬሬ⃗ = Bሬሬ⃗  

(D) ∇ሬሬ⃗ × Hሬሬ⃗ = J⃗ + J⃗ୈ 

 23. dkSu lk O;atd eSDlosy lehdj.k ugha gS \ 

(A)   ∇ሬሬ⃗ ⋅ Dሬሬ⃗ = ρ  

(B) ∇ሬሬ⃗ ⋅ Hሬሬ⃗ = 0 

(C) ∇ሬሬ⃗ × Aሬሬ⃗ = Bሬሬ⃗  

(D) ∇ሬሬ⃗ × Hሬሬ⃗ = J⃗ + J⃗ୈ 

24. Which is the correct differential 

equation for electromagnetic wave 

in vacuum ?  

(A)   ∇ଶHሬሬ⃗ − μ଴ϵ଴
ୢమ୉ሬሬ⃗

ୢ୲మ
= 0 

(B) ∇ଶEሬሬ⃗ − μ଴ϵ଴
ୢమୌሬሬ⃗

ୢ୲మ
= 0 

(C) ∇ଶEሬሬ⃗ + μ଴ϵ଴
ୢమ୉ሬሬ⃗

ୢ୲మ
= 0 

(D) ∇ଶHሬሬ⃗ − μ଴ϵ଴
ୢమୌሬሬ⃗

ୢ୲మ
= 0 

 24. fuokZr esa fo|qr pqEcdh; rjax ds fy, lgh 

vody lehdj.k dkSu lk gS \ 

(A)   ∇ଶHሬሬ⃗ − μ଴ϵ଴
ୢమ୉ሬሬ⃗

ୢ୲మ
= 0 

(B) ∇ଶEሬሬ⃗ − μ଴ϵ଴
ୢమୌሬሬ⃗

ୢ୲మ
= 0 

(C) ∇ଶEሬሬ⃗ + μ଴ϵ଴
ୢమ୉ሬሬ⃗

ୢ୲మ
= 0 

(D) ∇ଶHሬሬ⃗ − μ଴ϵ଴
ୢమୌሬሬ⃗

ୢ୲మ
= 0 
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25. What will be the velocity of 

electromagnetic wave in free 

space?  

(A)   ඥμ଴ϵ଴ 

(B) ට
ஜబ
஫బ

 

(C) ට
஫బ
ஜబ

 

(D) ଵ

ඥஜబ஫బ
 

 25. eqDr vkdk’k esa fo|qr pqEcdh; rjaxkas dk 

osx D;k gksxk \  

(A)   ඥμ଴ϵ଴ 

(B) ට
ஜబ
஫బ

 

(C) ට
஫బ
ஜబ

 

(D) ଵ

ඥஜబ஫బ
 

26. Which is not a correct value of 

impedance for free space ? 

(A)   μ଴ c 

(B) 120 π 

(C) ඥμ଴ϵ଴ 

(D) ට
ஜబ
஫బ

 

 26. eqDr vkdk’k dh izfrck/kk ds fy, dkSu lk 

eku lgh ugha gS \ 

(A)   μ଴ c 

(B) 120 π 

(C) ඥμ଴ϵ଴ 

(D) ට
ஜబ
஫బ

 

27. The magnitude of electric field is 

12 volt/m for an electromagnetic 

wave in free space. State the value 

of magnetic field:  

(A)   4 × 10ି଼ Tesla 

(B) 8 × 10ି଼ Tesla 

(C) 36 × 10଼ Tesla 

(D) 2 × 10ି଼ Tesla 

 27. eqDr vkdk’k esa fo|qrpqEcdh; ds fy, fo|qr 

{ks= dk ifjek.k 12 oksYV@ehŒ gSA pqEcdh; 

{ks= dk eku crkb;s% 

(A) 4 × 10ି଼ VsLyk 

(B) 8 × 10ି଼ VsLyk 

(C) 36 × 10଼ VsLyk 

(D) 2 × 10ି଼ VsLyk 
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28. Which will be the average value of 

Poynting vector for free space ? 

(A)   < ݑ > ܿnሬ⃗  

(B) (୉౨ౣ౩)మ

ஜబୡ
nሬ⃗  

(C) ට
஫బ
ஜబ

(E୰୫ୱ)ଶnሬ⃗  

(D) All above 

 28. eqDr vkdk’k ds fy, iksabfVax osDVj dk 

vkSlr eku dkSu lk gksxk \ 

(A)   < ݑ > ܿnሬ⃗  

(B) (୉౨ౣ౩)మ

ஜబୡ
nሬ⃗  

(C) ට
஫బ
ஜబ

(E୰୫ୱ)ଶnሬ⃗  

(D) mi;qZDr lHkh 

29. The relative permittivity and 

relative permeability for a 

isotropic medium is 4 and 1 

respectively. What will be 

impedance of medium and velocity 

of electromagnetic wave in it ?  

(A)   120 π ; C 

(B) 60 π ; C/2 

(C) 240 π ; 2C 

(D) 30 π ; C/4 

 29. ,d lenSf’kd ek/;e ds fy, vkisf{kd 

fo|qr’khyrk rFkk vkisf{kd ikjxE;rk Øe’k% 

4 vkSj 1 gSA ek/;e dh izfrck/kk rFkk blesa 

fo|qr pqEcdh; rjax dk osx D;k gksxk \ 

(A)   120 π ; C 

(B) 60 π ; C/2 

(C) 240 π ; 2C 

(D) 30 π ; C/4 

30. The intensity of electromagnetic 

wave in free space is equal to : 

(A)   ଵ
ଶ
ϵ଴ C E୰୫ୱଶ  

(B) ଵ
ଶ
ϵ଴ C Eଶ 

(C) ଵ
ଶ
ϵ଴ C E଴ଶ 

(D) ϵ଴ C Eଶ 

 30. eqDr vkdk’k esa fo|qr pqEcdh; rjaxksa dh 

rhozrk cjkcj gS % 

(A)   ଵ
ଶ
ϵ଴ C E୰୫ୱଶ  

(B) ଵ
ଶ
ϵ଴ C Eଶ 

(C) ଵ
ଶ
ϵ଴ C E଴ଶ 

(D) ϵ଴ C Eଶ 
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31. The mathematical form of 

Poynting theorem is : 

(A)   −J⃗ ⋅ Eሬሬ⃗ = − ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

(B) −J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲
− ∇ሬሬ⃗ ⋅ Sሬ⃗  

(C) +J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

(D) −J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

 31. iksbafVax izes; dk xf.krh; :i gS % 

(A)   −J⃗ ⋅ Eሬሬ⃗ = − ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

(B) −J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲
− ∇ሬሬ⃗ ⋅ Sሬ⃗  

(C) +J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

(D) −J⃗ ⋅ Eሬሬ⃗ = ப୳
ப୲

+ ∇ሬሬ⃗ ⋅ Sሬ⃗  

32. Which is not a property of free 

space ? 

(A)   ρ = 0 

(B) σ = 0 

(C) J ≠ 0 

(D) μ୰ = ϵ୰ = 1 

 32. eqDr vkdk’k dh dkSu fo’ks”krk ugha gS \ 

(A)   ρ = 0 

(B) σ = 0 

(C) J ≠ 0 

(D) μ୰ = ϵ୰ = 1 

33. Which differential equation is 

valid for an electromagnetic wave 

in a medium of permeability μ, 

permitivity ϵ and conductivity σ ?   

(A)   ∇ଶEሬሬ⃗ − μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0  

(B) ∇ଶEሬሬ⃗ + μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0 

(C) ∇ଶEሬሬ⃗ − μσ பୌሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0 

(D) ∇ଶHሬሬ⃗ − μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మୌሬሬ⃗

ப୲మ
= 0 

 33. ikjxE;rk μ, fo|qr’khyrk ϵ rFkk pkydrk 

σokys ek/;e esa fo|qr pqEcdh; rjax ds 

fy, oS/k vody lehdj.k dkSu lk gS \ 

(A)   ∇ଶEሬሬ⃗ − μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0  

(B) ∇ଶEሬሬ⃗ + μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0 

(C) ∇ଶEሬሬ⃗ − μσ பୌሬሬ⃗

ப୲
− μϵ ப

మ୉ሬሬ⃗

ப୲మ
= 0 

(D) ∇ଶHሬሬ⃗ − μσ ப୉ሬሬ⃗

ப୲
− μϵ ப

మୌሬሬ⃗

ப୲మ
= 0 
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34. Which statement is not true for an 

electromagnetic wave in 

conducting medium ? 

(A)   Wave propagation vector is 

complex quantity 

(B) Vectors Eሬሬ⃗  and Hሬሬ⃗  are not in 

same phase 

(C) u୫ and uୣ decrease 

exponentially and u୫ < uୣ 

(D) If ஢
ன஫
≪ 1 then δ = ට ଶ

ஜ஢ன
 

 34. pkyd ek/;e esa fo|qr pqEcdh; rjax ds 

fy, dkSu lk dFku lR; ugha gS \ 

(A) rjax lapj.k lfn’k lfEeJ jkf’k gksrh 

gSA 

(B) lfn’k Eሬሬ⃗  vkSj Hሬሬ⃗  ,d gh dyk esa ugha 

gksrs gSaA 

(C) u୫ vkSj uୣ pj?kkrkadh; :i ls ?kVrs 

gS rFkk u୫ < uୣ 

(D) ;fn ஢
ன஫
≪ 1 rks δ = ට ଶ

ஜ஢ன
 

35. If ω and Kሬሬ⃗  are the angular 
frequency and wave propagation 
vector respectively for an 
electromagnetic wave then what 
will be the relation between field 

vectors Eሬሬ⃗ andBሬሬ⃗  ? 

(A)   Kሬሬ⃗ = ୆ሬሬ⃗ ×୉ሬሬ⃗

ன
 

(B) Eሬሬ⃗ = ୏ሬሬ⃗ ×୆ሬሬ⃗

ன
 

(C) Bሬሬ⃗ = ୏ሬሬ⃗ ×୉ሬሬ⃗

ன
 

(D) Bሬሬ⃗ = ω(Kሬሬ⃗ × Eሬሬ⃗ ) 

 35. ;fn ω vkSj Kሬሬ⃗  Øe’k% fo|qr pqEcdh; rjax 

ds fy, dks.kh; vkòfÙk vkSj rjax lapj.k 

lfn’k gks rks {ks= lfn’kksa Eሬሬ⃗  vkSj Bሬሬ⃗  ds e/; 

D;k lEcU/k gksxk \ 

(A)   Kሬሬ⃗ = ୆ሬሬ⃗ ×୉ሬሬ⃗

ன
 

(B) Eሬሬ⃗ = ୏ሬሬ⃗ ×୆ሬሬ⃗

ன
 

(C) Bሬሬ⃗ = ୏ሬሬ⃗ ×୉ሬሬ⃗

ன
 

(D) Bሬሬ⃗ = ω(Kሬሬ⃗ × Eሬሬ⃗ ) 

36. Which quantity is equal to Eሬሬ⃗ ×Hሬሬ⃗ ? 
(A)   Poynting Vector   
(B) Wave propagation vector 
(C) Velocity of electromagnetic 

wave 
(D) Energy density of electro-

magnetic wave 

 36. dkSu lh jkf’k Eሬሬ⃗ ×Hሬሬ⃗  ds cjkcj gksrk gS \ 

(A) iksbafVax lfn’k 

(B) rjax lapj.k lfn’k 

(C) fo|qr pqEcdh; rjax dk osx 

(D) fo|qr pqEcdh; rjax dk ÅtkZ ?kuRo 
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37. What will be the phase difference 

between incident and reflected 

wave if the electromagnetic wave 

is reflected from the surface of (i) 

rare medium and (ii) denser 

medium respectively ? 

(A)   0 ; π 

(B) π ; 0 

(C) π ; 2π 

(D) π/2 ;  π 

 37. ;fn fo|qr pqEcdh; rjax Øe’k% (i) fojy 

ek/;e vkSj (ii) l?ku ek/;e ds lrg 

ijkofrZr gksrk gS rks vkifrr ,oa ijkofrZr 

rjaxkas ds chp dykUrj fdruk gksxk \ 

(A)   0 ; π 

(B) π ; 0 

(C) π ; 2π 

(D) π/2 ;  π 

38. If K and K′ are the wave 

propagation vector for incident and 

reflected waves then correct 

relation between them are : 

(A)   K <  ′ܭ

(B) K >  ′ܭ

(C) K = K′ 

(D) None of above 

 38. ;fn K vkSj K′ vkifrr ,oa ijkofrZr rjaxksa 

ds fy, rjax lapj.k lfn’k gks rks muds 

chp lgh lEcU/k gS % 

(A)   K <  ′ܭ

(B) K >  ′ܭ

(C) K = K′ 

(D) mi;qZDr esa dksbZ ugha 

39. Which is not true statement 

regarding total internal reflection 

of electromagnetic wave ?   

(A)   nଵ > nଶ 

(B) θୡ = sinିଵ ቀ୬మ
୬భ
ቁ 

(C) amplitude reflection 

coefficient >1 

(D) θ୧ > θୡ 

 39. fo|qr pqEcdh; rjaxksa ds iw.kZ vkUrfjd 

ijkorZu ls lEcfU/kr dkSu lk dFku lR; 

ugha gS \ 

(A)   nଵ > nଶ 

(B) θୡ = sinିଵ ቀ୬మ
୬భ
ቁ 

(C) vk;ke ijkorZu xq.kkad > 1 

(D) θ୧ > θୡ 
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40. Fresnel’s amplitude transmission 

coefficient for electromagnetic 

wave is always : 

(A)   Positive 

(B) Negative 

(C) Zero 

(D) One 

 40. fo|qr pqEcdh; rjax ds fy, Ýsuy dk 

vk;ke ikjxeu xq.kkad lnSo gksrk gS % 

(A) /kukRed 

(B) _.kkRed 

(C) ‘kwU; 

(D) ,d 

41. The tangential component of 

electric field vector and normal 

component of magnetic field 

vector at the interface of two 

medium are respectively :  

(A)   Continuous and continuous 

(B) Continuous and 

discontinuous 

(C) Discontinuous and 

continuous 

(D) Discontinuous and 

discontinuous 

 41. nks ek/;eksa ds varjkQyd ij fo|qr {ks= 

lfn’k dk Li’kZd ?kVd rFkk pqEcdh; {ks= 

lfn’k dk vfHkyEcor ?kVd Øe’k% gksrk gS% 

(A) lrr vkSj lrr 

(B) lrr vkSj vlrr 

(C) vlrr vkSj lrr 

(D) vlrr vkSj vlrr 

42. Which one is true condition for the 

normal component of electric 

displacement vector at the 

interface of two medium ? 

(A)   Dଵ୬ − Dଶ୬ = 0 

(B) Dଵ୬ − Dଶ୬ = ρ 

(C) Dଵ୬ − Dଶ୬ = σ 

(D) Dଵ୬ − Dଶ୬ =J 

 42. nks ek/;eksa ds vUrjkQyd ij fo|qr 

foLFkkiu lfn’k ds vfHkyEcor ?kVd gsrq 

dkSu lh ‘krZ lgh gS \ 

(A)   Dଵ୬ − Dଶ୬ = 0 

(B) Dଵ୬ − Dଶ୬ = ρ 

(C) Dଵ୬ − Dଶ୬ = σ 

(D) Dଵ୬ − Dଶ୬ =J 
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43. The ratio of dielectric constants for 

medium A and B is 16 ∶ 9 while 

ratio of their relative 

permeabilities is 1 ∶ 4. What will 

be the refractive index of medium 

B with respect to medium A ? 

(A)   1.50 

(B) 0.67 

(C) 0.44 

(D) 2.25 

 43. ek/;eksa A vkSj B ds ijkoS|qrkadks dk vuqikr 

16 ∶ 9 gS tcfd buds vkisf{kd 

ikjxE;rkvksa dk vuqikr 1 ∶ 4 gSA ek/;e 

A ds lkis{k ek/;e B dk viorZukad D;k 

gksxk \ 

(A)   1.50 

(B) 0.67 

(C) 0.44 

(D) 2.25 

44. If Rୄ and R∥ are the reflection 

coefficients for the perpendicular 

and parallel component of electric 

field vectors in reflected wave the 

degree of polarization is defined 

as: 

(A)   ୖ఼ାୖ∥
ୖ఼ିୖ∥

 

(B) ୖ఼ିୖ∥
ୖ఼ାୖ∥

 

(C) ൫ୖ఼ିୖ∥൯
మ

ୖ఼ୖ∥
 

(D) ൫ୖ఼ାୖ∥൯
మ

ୖ఼ୖ∥
 

 44. ;fn RୄrFkk R∥, ijkofrZr rjax eas fo|qr 

{ks= lfn’k ds vfHkyEcor o lkekukUrj 

?kVdksa ds fy, ijkorZu xq.kkad gks rks /kqzo.k 

dh dksfV dks ifjHkkf”kr fd;k tkrk gS % 

(A)   ୖ఼ାୖ∥
ୖ఼ିୖ∥

 

(B) ୖ఼ିୖ∥
ୖ఼ାୖ∥

 

(C) ൫ୖ఼ିୖ∥൯
మ

ୖ఼ୖ∥
 

(D) ൫ୖ఼ାୖ∥൯
మ

ୖ఼ୖ∥
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45. An electromagnetic wave is 

propagating from medium 1 to 

medium 2. If refractive index 

mediums are such that nଵ > nଶ 

then what will be the Fresnel’s 

amplitude reflection coefficient for 

perpendicular incidence of electric 

field vector ? 

(A)   Zero 

(B) One 

(C) Positive 

(D) Negative 

 45. ,d fo|qr pqEcdh; rjax ek/;e 1 ls ek/;e 

2 esa lapfjr gks jgh gSA ;fn ek/;eksa ds 

viorZukad bl rjg gks fd nଵ > nଶ rks 

fo|qr {ks= lfn’k ds vfHkyEcor vkiru ds 

fy, Ýsuy dk vk;ke ijkorZu xq.kkad D;k 

gksxk \ 

(A) ‘kwU; 

(B) ,d 

(C) /kukRed 

(D) _.kkRed 

46. What is expression for Fresnel’s 

amplitude reflection coefficient for 

parallel incidence of electric vector 

to the plane of incidence ? 

(A)   r∥ = ୲ୟ୬(஘౟ି஘౨)
୲ୟ୬(஘౟ା஘౨)

 

(B) r∥ = ୲ୟ୬(஘౟ା஘౨)
୲ୟ୬(஘౟ି஘౨)

 

(C) r∥ = ୱ୧୬(஘౟ି஘౨)
ୱ୧୬(஘౟ା஘౨)

 

(D) r∥ = ୱ୧୬(஘౟ା஘౨)
ୱ୧୬(஘౟ି஘౨)

 

 46. vkiru ry ds lkekukUrj fo|qr osDVj ds 

vkiru ds fy, Ýsuy dk vk;ke ijkorZu 

xq.kkad dk lw= D;k gS \ 

(A)   r∥ = ୲ୟ୬(஘౟ି஘౨)
୲ୟ୬(஘౟ା஘౨)

 

(B) r∥ = ୲ୟ୬(஘౟ା஘౨)
୲ୟ୬(஘౟ି஘౨)

 

(C) r∥ = ୱ୧୬(஘౟ି஘౨)
ୱ୧୬(஘౟ା஘౨)

 

(D) r∥ = ୱ୧୬(஘౟ା஘౨)
ୱ୧୬(஘౟ି஘౨)
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47. The refractive index of two 
mediums are nଵ and nଶ. What will 
be the reflection and transmission 
coefficients for normal incidence 
of an electromagnetic wave from 
medium 1 to medium 2 ? 
(A)   ଶ୬భ

୬భା୬మ
; ୬మି ୬భ
୬భା୬మ

 

(B) ୬మି ୬భ
୬భା୬మ

; ଶ୬భ
୬భା୬మ

 

(C) (୬మି ୬భ)మ

(୬భା୬మ)మ
; ସ୬భ୬మ

(୬భା୬మ)మ
 

(D) ସ୬భ୬మ
(୬భା୬మ)మ

; (୬మି ୬భ)మ

(୬భା୬మ)మ
 

 47. nks ek/;eksa ds viorZukad Øe’k% nଵ rFkk nଶ 

gSaA ek/;e 1 ls ek/;e 2 esa fo|qr pqEcdh; 

rjax ds vfHkyEcor vkiru ds fy, ijkorZu 

o ikjxeu xq.kkad D;k gksxsa \ 

(A)   ଶ୬భ
୬భା୬మ

; ୬మି ୬భ
୬భା୬మ

 

(B) ୬మି ୬భ
୬భା୬మ

; ଶ୬భ
୬భା୬మ

 

(C) (୬మି ୬భ)మ

(୬భା୬మ)మ
; ସ୬భ୬మ

(୬భା୬మ)మ
 

(D) ସ୬భ୬మ
(୬భା୬మ)మ

; (୬మି ୬భ)మ

(୬భା୬మ)మ
 

48. If refractive index of a medium is 
√3 then find Brewster angle ? 
(A)   15° 
(B) 45° 
(C) 30° 
(D) 60° 

 48. ;fn ek/;e dk viorZukad √3 gks rks czwLVj 
dks.k Kkr dhft, \ 
(A)   15° 
(B) 45° 
(C) 30° 
(D) 60° 

49. The ratio of electrostatic and 
magnetic energy densities for time 
varying electromagnetic field in 
free space is equal to : 
(A)   1: 1 
(B) μ଴ ∶ ϵ଴ 
(C) ϵ଴ ∶ μ଴ 
(D) μ଴ϵ଴ ∶ 1 

 49. eqDr vkdk’k esa] le; ifjorhZ fo|qr 

pqEcdh; {ks= gsrq fo|qrLFkSfrd ,oa pqEcdh; 

ÅtkZ ?kuRoks dk vuqikr cjkcj gksrk gS % 

(A)   1: 1 
(B) μ଴ ∶ ϵ଴ 
(C) ϵ଴ ∶ μ଴ 
(D) μ଴ϵ଴ ∶ 1 

50. If a spherical source of area 1 
cmଶemits radiation 100 Joule/sec 
then what will be the magnitude of 
Poynting vector ? 
(A)   10ସ watt/mଶ 
(B) 10ଶ watt/mଶ 
(C) 10଺ watt/mଶ 
(D) 10ିସ watt/mଶ 

 50. ;fn {ks=Qy 1 cmଶ dk xksyh; lzksr 100 

twy@lsŒ dk fofdj.k mRlftZr djrk gks 

rks iksbafVx osDVj dk ifjEkk.k D;k gksxk \ 

(A) 10ସokV@ehŒ2 

(B) 10ଶokV@ehŒ2 

(C) 10଺okV@ehŒ2 

(D) 10ିସokV@ehŒ2 
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51. If point charges qଵ and qଶ are 

separated by a distance ‘r’ then 

according to Coulombs Law, the 

force acting between them in 

vector form is :    

(A) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰య

r⃗ 

(B) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰మ

r⃗ 

(C) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰య

rො 

(D) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰

rො 

 51. ;fn fcUnq vkos’kksa qଵ vkSj qଶ nwjh ‘r’ ls 

ìFkd gks rks dwykWe fu;e ds vuqlkj] buds 

e/; yxus okys cy dk lfn’k :i gS % 

(A)   Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰య

r⃗ 

(B) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰మ

r⃗ 

(C) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰య

rො 

(D) Fሬ⃗ = ଵ
ସ஠஫బ

∙ ୯భ୯మ
୰

rො 

52. A charge of Q coulomb is placed 

at one corner of the cube. What 

will be the net outward electric 

flux through cube ?  

(A)   ୕
஫బ

 

(B) ୕
଺஫బ

 

(C) ୕
଼஫బ

 

(D) ୕
ସ଼஫బ

 

 52. ?ku ds ,d dksus ij vkos’k Q j[kk gSA ?ku 

ls dqy cká fuxZr fo|qr ¶yDl D;k gksxk\ 

(A)   ୕
஫బ

 

(B) ୕
଺஫బ

 

(C) ୕
଼஫బ

 

(D) ୕
ସ଼஫బ

 

53. Find the value of ∇ሬሬ⃗ ∙ Eሬሬ⃗  if value of 

electric field Eሬሬ⃗  is equal to ୯୰ሬ⃗
୰య

 :  

(A)   ୯
஫బ

 

(B) ୯୰
஫బ

 

(C) − ଷ୯୰ሬ⃗
஫బ୰ఱ

 

(D) Zero 

 53. ;fn fo|qr {ks= Eሬሬ⃗  dk eku ୯୰ሬ⃗
୰య

 ds cjkcj gks 

rks ∇ሬሬ⃗ ∙ Eሬሬ⃗  dk eku Kkr dhft, % 

(A)   ୯
஫బ

 

(B) ୯୰
஫బ

 

(C) − ଷ୯୰ሬ⃗
஫బ୰ఱ

 

(D) ‘kwU; 
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54. If the line integral of an electric 

field over a closed path is zero 

then electric field is : 

(A)   Irrotational and path 

dependent 

(B) Irrotational and path 

independent 

(C) Rotational and path 

dependent 

(D) Rotational and path 

independent 

 54. ;fn cUn ekxZ ds fy, fo|qr {ks= ds js[kh; 

lekdyu dk eku ‘kwU; gks rks fo|qr {ks= gS% 

(A) v?kw.khZ; vkSj ekxZ fuHkZj 

(B) v?kw.khZ; vkSj ekxZ vfuHkZj 

(C) ?kw.khZ; vkSj ekxZ fuHkZj 

(D) ?kw.khZ; vkSj ekxZ vfuHkZj 

55. The electric field at distance r due 

to charged conductor, point 

charge, electric diploe and electric 

quadrupole is respectively 

proportional to :    

(A)   rିଵ, rିଶ, rିଷ, rିସ 

(B) r଴, rିଵ, rିଶ, rିଷ 

(C) rିଵ, rିଷ, rିସ, rିହ 

(D) r଴, rିଶ, rିଷ, rିସ 

 55. vkosf’kr pkyd] fcUnq vkos’k] fo|qr f}/kqzo 

,oa fo|qr prq/kqzZo ds dkj.k ‘r’ nwjh ij 

fo|qr {ks= Øe’k% lekuqikrh gksrk gS % 

(A)   rିଵ, rିଶ, rିଷ, rିସ 

(B) r଴, rିଵ, rିଶ, rିଷ 

(C) rିଵ, rିଷ, rିସ, rିହ 

(D) r଴, rିଶ, rିଷ, rିସ 

56. The expression of electrostatic 

energy density (Ue) of a volume 

charge distribution is : 

(A)   Ue = ଵ
ଶ
ϵ଴Eଶ 

(B) Ue = ଵ
ଶ
ϵ଴∫ Eଶdτ  

(C) Ue = ଵ
ଶ
ϵ଴∫ ϕρdτ 

(D) All above 

 56. vk;ru vkos’k forj.k ds fy, fLFkj fo|qr 

ÅtkZ ?kuRo (Ue)dk O;atd gS % 

(A)   Ue = ଵ
ଶ
ϵ଴Eଶ 

(B) Ue = ଵ
ଶ
ϵ଴∫ Eଶdτ  

(C) Ue = ଵ
ଶ
ϵ଴∫ ϕρdτ 

(D) mi;qZDr lHkh 
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57. A charge Q is uniformly 

distributed in a solid sphere of 

radius R. What will be its 

electrostatic energy ? 

(A)   ଵ
ଶ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(B) ଷ
ହ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(C) ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(D) ଷ
ଶ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

 57. vkos’k Q, f=T;k R ds n<̀+ xksys esa ,d 

leku :i ls forfjr gSA bldh 

fo|qrLFkSfrd ÅtkZ D;k gksxh \ 

(A)   ଵ
ଶ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(B) ଷ
ହ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(C) ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

(D) ଷ
ଶ
∙ ଵ
ସ஠஫బ

∙ ୕
మ

ୖ
 

58. The ratio of electrostatic potential 

due to an electric dipole at polar 

co-ordinates (2 cm, 30°) and (2 

cm, 60°) will be : 

(A)   2 ∶  3  

(B) 3 : 2 

(C) 3 : 1 

(D) 1 ∶ 3  

 58. fo/kqzo f}/kqzo ds dkj.k /kqzoh; funsZ’kkadks ¼2 

lseh] 30°½ rFkk ¼2 lseh] 60°½ ij fo|qr 

LFkSfrd foHkoksa dk vuqikr gksxk % 

(A)   2 ∶ 3  

(B) 3 ∶ 2 

(C) 3 : 1 

(D) 1 ∶ 3  

59. The expression of electric field 

൫Eሬሬ⃗ ൯ due to an electric dipole at 

polar co-ordinate (r, θ) is : 

(A)   Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰య
√3 cosଶ θ + 1 

(B) Eሬሬ⃗ = ଵ
ସ஠஫బ

 ୮ሬሬ⃗
୰మ
√3 cosଶ θ − 1 

(C) Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰య
√1 + 3 cosଶ θ 

(D) Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰య
√1 − 3 cosଶ θ 

 59. fo|qr f}/kzqo ds dkj.k /kzqoh; funsZ’kkad 

(r, θ) ij fo|qr {ks= ൫Eሬሬ⃗ ൯ dk O;atd gS % 

(A)   Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰య
√3 cosଶ θ + 1 

(B) Eሬሬ⃗ = ଵ
ସ஠஫బ

 ୮ሬሬ⃗
୰య
√3 cosଶ θ − 1 

(C) Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰మ
√1 + 3 cosଶ θ 

(D) Eሬሬ⃗ = ଵ
ସ஠஫బ

∙ ୮ሬሬ⃗
୰య
√1 − 3 cosଶ θ 
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60. What will be the ratio of electric 

fields at external and internal 

points due to a charged conductor 

having ‘σ’ surface charge density? 

(A)   Zero 

(B) ∞  

(C) ஢
ଶ஫బ

 

(D) ஢
஫బ

 

 60. ì”Bh; vkos’k ?kuRo ‘σ’ okys vkosf’kr 

pkyd ds dkj.k] cká ,oa vkUrfjd fcUnqvksa 

ij fo|qr {ks=ksa dk vuqikr D;k gksxk \ 

(A) ‘kwU; 

(B) ∞  

(C) ஢
ଶ஫బ

 

(D) ஢
஫బ

 

61. If ∇ሬሬ⃗ × Eሬሬ⃗ = 0 then relation between 

electric field Eሬሬ⃗  and scalar potential 

ϕ will be : 

(A)   Eሬሬ⃗ = ∇ሬሬ⃗  ϕ 

(B) ϕ = −∇ሬሬ⃗ . Eሬሬ⃗  

(C) Eሬሬ⃗ = −∇ሬሬ⃗  ϕ 

(D) Eሬሬ⃗ = ±∇ሬሬ⃗  ϕ 

 61. ;fn ∇ሬሬ⃗ × Eሬሬ⃗ = 0 gks rks fo|qr {ks= Eሬሬ⃗  vkSj 

vfn’k foHko ϕ ds e/; lEcU/k gksxk % 

(A)   Eሬሬ⃗ = ∇ሬሬ⃗  ϕ 

(B) ϕ = −∇ሬሬ⃗ . Eሬሬ⃗  

(C) Eሬሬ⃗ = −∇ሬሬ⃗  ϕ 

(D) Eሬሬ⃗ = ±∇ሬሬ⃗  ϕ 

62. A linear quadrupole is formed by 

charges q, -2q and q, which are 

separated by distance ‘d’. What 

will be its dipole and axial 

quadrupole moment ? 

(A)   2qd ; 3qdଶ 

(B) zero ; 2qdଶ 

(C) 2qd ; 2qdଶ 

(D) zero ; qdଶ(3 cosଶ θ − 1) 

 62. ,d js[kh; prq/kqzZo] vkos’kksa q, -2q vkSj q ls 

cuk gS tks ,d nwljs ls nwjh ‘d’ ls ìFkd 

gSA bldk f}/kqzo ,oa v{kh; prq/kzqZo vk?kw.kZ 

D;k gksxk \ 

(A)   2qd ; 3qdଶ 

(B) ‘kwU; ; 2qdଶ 

(C) 2qd ; 2qdଶ 

(D) ‘kwU; ; qdଶ(3 cosଶ θ − 1) 
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63. Poisson equation for electrostatic 

field is : 

(A)   ∇ଶϕ = − ஢
஫బ

 

(B) ∇ଶϕ = − ஡
஫బ

 

(C) ∇ଶϕ = + ஡
஫బ

 

(D) ∇ଶϕ = 0 

 63. fo|qrLFkSfrd {ks= ds fy, ikW;lk lehdj.k 

gS % 

(A)   ∇ଶϕ = − ஢
஫బ

 

(B) ∇ଶϕ = − ஡
஫బ

 

(C) ∇ଶϕ = + ஡
஫బ

 

(D) ∇ଶϕ = 0 

64. If electric potential is expressed by 

xଶ − yଶ then find electric field at 

coordinate (1, 1): 

(A)   2(−i + j) 

(B) 8(−i + j) 

(C) 12(−i + j) 

(D) 10(−i − j) 

 64. ;fn fo|qr foHko dks xଶ − yଶ ls iznf’kZr 

fd;k tkrk gS rks funsZ’kkad (1, 1) ij fo|qr 

{ks= Kkr dhft, % 

(A)   2(−i + j) 

(B) 8(−i + j) 

(C) 12(−i + j) 

(D) 10(−i − j)  

65. A uniformly charged sphere has 

volume charge density ρ and 

radius R. What will be the electric 

fields at external and internal 

points situated at distance r from 

its centre ?  

(A)   ஡ୖ
య

ଶ஫బ୰మ
 ; zero 

(B) ஡ୖయ

ଷ஫బ୰మ
 ; ஡୰
ଷ஫బ

 

(C) ஡ୖయ

ଶ஫బ୰మ
 ; ஡୰
ଷ஫బ

 

(D) ஡ୖ
ଷ஫బ୰మ

 ; zero 

 65. ,d leku vkosf’kr xksys dk vk;ru vkos’k 

?kuRo ρ vkSj f=T;k R gSA blds dsUnz ls r 

nwjh ij fLFkr cká ,oa vkUrfjd fcUnqvksa ij 

fo|qr {ks=ksa dk eku D;k gksxk \ 

(A)   ஡ୖ
య

ଶ஫బ୰మ
 ; ‘kwU; 

(B) ஡ୖయ

ଷ஫బ୰మ
 ; ஡୰
ଷ஫బ

 

(C) ஡ୖయ

ଶ஫బ୰మ
 ; ஡୰
ଷ஫బ

 

(D) ஡ୖ
ଷ஫బ୰మ

 ; ‘kwU; 
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66. The ratio of radial and azimuthal 

components of electric field due to 

an electric dipole at polar co-

ordinate (r, θ) will be : 

(A)   2 tan θ ∶ 1 

(B) 1 ∶ 2 tan θ 

(C) tan θ ∶ 2 

(D) 2 ∶  tan θ 

 66. fo|qr f}/kqzo ds dkj.k /kzqoh; funsZ’kkad 

(r, θ) ij fo|qr {ks= ds f=T;h; ,oa 

fnxa’kh; ?kVdksa dk vuqikr gksxk % 

(A)   2 tan θ ∶ 1 

(B) 1 ∶ 2 tan θ 

(C) tan θ ∶ 2 

(D) 2 ∶  tan θ 

67. A charge Q is uniformly 

distributed within a solid sphere of 

radius R. What will be the electric 

potential at its internal point 

situated at distance r from centre ? 

(A)   ୕
ସ஠஫బ

ቀୖ
మି୰మ

ୖయ
ቁ 

(B) ୕
ସ஠஫బ

ቀଷୖ
మିଶ୰మ

ୖయ
ቁ 

(C) ୕
ସ஠஫బ

ቀଷୖ
మି୰మ

ଶୖయ
ቁ 

(D) ୕
ସ஠஫బ

ቀଷୖ
మା୰మ

ସୖయ
ቁ 

 67. vkos’k Q, f=T;k R ds n<̀+ xksys esa ,d 

leku :i ls forfjr gSA blds dsUnz ls r 

nwjh ij fLFkr vkUrfjd fcUnq ij fo|qr 

foHko dk eku D;k gksxk\ 

(A)   ୕
ସ஠஫బ

ቀୖ
మି୰మ

ୖయ
ቁ 

(B) ୕
ସ஠஫బ

ቀଷୖ
మିଶ୰మ

ୖయ
ቁ 

(C) ୕
ସ஠஫బ

ቀଷୖ
మି୰మ

ଶୖయ
ቁ 

(D) ୕
ସ஠஫బ

ቀଷୖ
మା୰మ

ସୖయ
ቁ 

68. An electric quadrupole has Qୈ 
axial quadrupole moment. What 
will be the expression of electric 
potential due to this at distance ‘r’ 
from it on bisector line ? 

(A)   ଵ
ସ஠஫బ

∙ ୕ీ
ଶ୰య

 

(B) ଵ
ସ஠஫బ

∙ ୕ీ
୰య

 

(C) ଵ
ସ஠஫బ

∙ ଷ୕ీ
୰మ

 

(D) ଵ
ସ஠஫బ

∙ ଷ୕ీ
ଶ୰య

 

 68. ,d fo|qr prq/kzqZo dk v{kh; prq/kqzZo vk?kw.kZ 

Qୈ gSA f}foHkktd js[kk ij blls ‘r’ nwjh 

ij blds dkj.k fo|qr foHko dk O;atd D;k 

gksxk \ 

(A)   ଵ
ସ஠஫బ

∙ ୕ీ
ଶ୰య

 

(B) ଵ
ସ஠஫బ

∙ ୕ీ
୰య

 

(C) ଵ
ସ஠஫బ

∙ ଷ୕ీ
୰మ

 

(D) ଵ
ସ஠஫బ

∙ ଷ୕ీ
ଶ୰య
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69. If ‘α’ is polarizability and N୅ is 

Avogadro’s number, then value of 

molar polarizability is :    

(A) ୒ఽ ஑
ଷ஫బ

 

(B) ஫బ஑
ଷ୒ఽ

 

(C) ஑
ଷ୒ఽ஫బ

 

(D) ଷ஑
୒ఽ஫బ

 

 69. ;fn ‘α’ /kzqo.krk vkSj N୅ vkoksxsMªks la[;k 

gks rks eksyj /kqzo.krk dk eku gS % 

(A) ୒ఽ ஑
ଷ஫బ

 

(B) ஫బ஑
ଷ୒ఽ

 

(C) ஑
ଷ୒ఽ஫బ

 

(D) ଷ஑
୒ఽ஫బ

 

70. What is relation between dielectric 

polarization vector ൫Pሬሬ⃗ ൯ and 

electric field ൫Eሬሬ⃗ ൯ ?  

(A)   Pሬሬ⃗ = χୣEሬሬ⃗  

(B) Pሬሬ⃗ = ϵ୰ϵ଴Eሬሬ⃗  

(C) Pሬሬ⃗ = ϵ଴χୣEሬሬ⃗  

(D) Pሬሬ⃗ = ϵ଴ α Eሬሬ⃗  

 70. ijkoS|qr /kqzo.k lfn’k ൫Pሬሬ⃗ ൯ rFkk oS|qr {ks= 

൫Eሬሬ⃗ ൯ds e/; D;k lEcU/k gksrk gS \ 

(A)   Pሬሬ⃗ = χୣEሬሬ⃗  

(B) Pሬሬ⃗ = ϵ୰ϵ଴Eሬሬ⃗  

(C) Pሬሬ⃗ = ϵ଴χୣEሬሬ⃗  

(D) Pሬሬ⃗ = ϵ଴ α Eሬሬ⃗  

71. The correct relation among the 

electric displacement vector ൫Dሬሬ⃗ ൯, 

electric field ൫Eሬሬ⃗ ൯ and polarization 

vector ൫Pሬሬ⃗ ൯ is : 

(A)   Dሬሬ⃗ = ϵ଴൫Eሬሬ⃗ + Pሬሬ⃗ ൯ 

(B) Dሬሬ⃗ = ϵ଴൫Eሬሬ⃗ − Pሬሬ⃗ ൯ 

(C) Dሬሬ⃗ = ϵ଴Eሬሬ⃗ + Pሬሬ⃗  

(D) Dሬሬ⃗ = ϵ଴Eሬሬ⃗ − Pሬሬ⃗  

 71. fo|qr foLFkkiu lfn’k ൫Dሬሬ⃗ ൯, fo|qr {ks= 

൫Eሬሬ⃗ ൯ ,oa /kqzo.k lfn’k ൫Pሬሬ⃗ ൯ ds e/; lgh 

lEcU/k gS% 

(A)   Dሬሬ⃗ = ϵ଴൫Eሬሬ⃗ + Pሬሬ⃗ ൯ 

(B) Dሬሬ⃗ = ϵ଴൫Eሬሬ⃗ − Pሬሬ⃗ ൯ 

(C) Dሬሬ⃗ = ϵ଴Eሬሬ⃗ + Pሬሬ⃗  

(D) Dሬሬ⃗ = ϵ଴Eሬሬ⃗ − Pሬሬ⃗  



Series-B B.Sc. – 135-N Page - 26 

72. If ϵ୰, n and N୅ are dielectric 
constant, number of molecules per 
unit volume and Avogadro’s 
number respectively then what will 
be the correct Clausius-Mossotti 
equation ?  

(A)   ஫౨ିଵ
஫౨ାଶ

= ୬஑
ଷ஫బ

 

(B) ஫౨ାଵ
஫౨ାଶ

= ୬஑
ଷ஫బ

 

(C) ஫౨ିଵ
஫౨ାଶ

= ୒ఽ ஑
ଷ஫బ

 

(D) ஫౨ାଵ
஫౨ାଶ

= ୒ఽ ஑
ଷ஫బ

 

 72. ;fn ϵ୰, n rFkk N୅ Øe’k% ijkoS|qr 

fu;rkad] ,dkad vk;ru ds v.kqvksa dh 

la[;k rFkk vkoksxsMªks la[;k gks rks 

Dykfl;l&ekslksVh lehdj.k dk lgh :i 

D;k gksxk \ 

(A)   ஫౨ିଵ
஫౨ାଶ

= ୬஑
ଷ஫బ

 

(B) ஫౨ାଵ
஫౨ାଶ

= ୬஑
ଷ஫బ

 

(C) ஫౨ିଵ
஫౨ାଶ

= ୒ఽ ஑
ଷ஫బ

 

(D) ஫౨ାଵ
஫౨ାଶ

= ୒ఽ ஑
ଷ஫బ

 

73. The value of molecular electric 
field inside the spherical cavity of 
dielectric medium in macroscopic 

external electric field ൫Eሬሬ⃗ ൯ is equal 
to : 

(A)   Eሬሬ⃗  

(B) Eሬሬ⃗ + ୔ሬሬ⃗

஫బ
 

(C) Eሬሬ⃗ + ୔ሬሬ⃗

ଶ஫బ
 

(D) Eሬሬ⃗ + ୔ሬሬ⃗

ଷ஫బ
 

 73. cká LFkwy fo|qr {ks= ൫Eሬሬ⃗ ൯ esa] ijkoS|qr 

ek/;e ds xksyh; dksVj ds vUnj vk.kfod 

fo|qr {ks= dk eku cjkcj gksrk gS % 

(A)   Eሬሬ⃗  

(B) Eሬሬ⃗ + ୔ሬሬ⃗

஫బ
 

(C) Eሬሬ⃗ + ୔ሬሬ⃗

ଶ஫బ
 

(D) Eሬሬ⃗ + ୔ሬሬ⃗

ଷ஫బ
 

74. The electrical susceptibility of 
polar dielectrics of dipole moment 
p at temperature T is proportional 
to : 

(A)   p
ଶ

Tଶൗ  

(B) Tଶ

pଶൗ  

(C) pଶ
Tൗ  

(D) p
Tଶൗ  

 74. rki T ij f}/kqzo vk?kw.kZ p okys /kqzoh; 

ijkoS|qr dh fo|qr lqxzkfgrk vuqØekuqikrh 

gksrk gS % 

(A)   p
ଶ

Tଶൗ  

(B) Tଶ

pଶൗ  

(C) pଶ
Tൗ  

(D) p
Tଶൗ  



Series-B B.Sc. – 135-N Page - 27 

75. Which equation represents the 

Gauss theorem for dielectric 

medium ? 

(A)   ∮Bሬሬ⃗ . dlሬሬሬ⃗ = μ଴ I  

(B) ∮Dሬሬ⃗ . dlሬሬሬ⃗ = Q
ϵ0ൗ  

(C) ∮Eሬሬ⃗ . dSሬሬሬሬ⃗ = ϵ଴Q 

(D) ∮Dሬሬ⃗ . dSሬሬሬሬ⃗ = Q 

 75. dkSu lk lehdj.k ijkoS|qr ek/;e ds fy, 

xkml izes; dks iznf’kZr djrk gS \ 

(A)   ∮Bሬሬ⃗ . dlሬሬሬ⃗ = μ଴ I  

(B) ∮Dሬሬ⃗ . dlሬሬሬ⃗ = Q
ϵ0ൗ  

(C) ∮Eሬሬ⃗ . dSሬሬሬሬ⃗ = ϵ଴Q 

(D) ∮Dሬሬ⃗ . dSሬሬሬሬ⃗ = Q 

76. Which is the correct relation 
between dielectric constant (ϵ୰) 
and electrical susceptibility (χୣ) ? 
(A)   ϵ୰. χୣ = 1 
(B) ϵ୰ = 1 + χୣ 
(C) ϵ୰ = 1 − χୣ 
(D) ϵ୰ = 1 + 4πχୣ 

 76. ijkoS|qrkad (ϵ୰) rFkk fo|qr lqxzkfgrk (χୣ) 

ds e/; lgh lEcU/k dkSu lk gS \ 

(A)   ϵ୰. χୣ = 1 

(B) ϵ୰ = 1 + χୣ 

(C) ϵ୰ = 1 − χୣ 

(D) ϵ୰ = 1 + 4πχୣ 

77. Which quantity is equal to induced 
electric dipole moment per unit 
volume for a dielectric medium ? 
(A)   Induced volume charge 

density 
(B) Induced surface charge 

density 
(C) Dielectric polarizability 
(D) Dielectric susceptibility 

 77. ijkoS|qr ek/;e ds fy,] ,dkad vk;ru ds 

izsfjr fo|qr f}/kqzo vk?kw.kZ dk eku fdl jkf’k 

ds cjkcj gksrk gS\ 

(A) izsfjr vk;ru vkos’k ?kuRo 

(B) izsfjr ì”Bh; vkos’k ?kuRo 

(C) ijkoS|qr /kqzo.krk 

(D) ijkoS|qr lqxzkfgrk 

78. Which is the expression of 
magnetic flux ? 

(A)   ϕ୫ = ∫ Bሬሬ⃗ . dSሬሬሬሬ⃗  

(B) ϕ୫ = ∫ Bሬሬ⃗ × dSሬሬሬሬ⃗  

(C) ϕ୫ = ∫ Bሬሬ⃗ × dlሬሬሬ⃗  

(D) ϕ୫ = ∫ Bሬሬ⃗ . dlሬሬሬ⃗  

 78. pqEcdh; ¶yDl dk O;atd dkSu lk gS \ 

(A)   ϕ୫ = ∫ Bሬሬ⃗ . dSሬሬሬሬ⃗  

(B) ϕ୫ = ∫ Bሬሬ⃗ × dSሬሬሬሬ⃗  

(C) ϕ୫ = ∫ Bሬሬ⃗ × dlሬሬሬ⃗  

(D) ϕ୫ = ∫ Bሬሬ⃗ . dlሬሬሬ⃗  
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79. The differential form of Ampere’s 

Law is :  

(A)   ∇ሬሬ⃗ . Bሬሬ⃗ = μ଴ I 

(B) ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(C) ∇ሬሬ⃗ . Bሬሬ⃗ = 0 

(D) ∇ሬሬ⃗ × Bሬሬ⃗ = J⃗ 

 79. ,fEi;j fu;e dk vody :i gS % 

(A)   ∇ሬሬ⃗ . Bሬሬ⃗ = μ଴ I 

(B) ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(C) ∇ሬሬ⃗ . Bሬሬ⃗ = 0 

(D) ∇ሬሬ⃗ × Bሬሬ⃗ = J⃗ 

80. Which is the correct equation of 

Lorentz force ? 

(A)   Fሬ⃗ = qEሬሬ⃗  

(B) Fሬ⃗ = q Vሬሬ⃗ × Bሬሬ⃗  

(C) Fሬ⃗ = qൣEሬሬ⃗ + ൫Vሬሬ⃗ × Bሬሬ⃗ ൯൧ 

(D) Fሬ⃗ = qൣEሬሬ⃗ + ൫Bሬሬ⃗ × Vሬሬ⃗ ൯൧ 

 80. ykWjsUt cy ds fy, lgh lehdj.k dkSu lk 

gS \ 

(A)   Fሬ⃗ = qEሬሬ⃗  

(B) Fሬ⃗ = q Vሬሬ⃗ × Bሬሬ⃗  

(C) Fሬ⃗ = qൣEሬሬ⃗ + ൫Vሬሬ⃗ × Bሬሬ⃗ ൯൧ 

(D) Fሬ⃗ = qൣEሬሬ⃗ + ൫Bሬሬ⃗ × Vሬሬ⃗ ൯൧ 

81. According to Biot Savart law, the 

expression of magnetic field due 

current carrying conductor will be:  

(A)   dBሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰య

(r⃗ × dlሬሬሬ⃗ ) 

(B) Bሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰య

(dlሬሬሬ⃗ × r⃗) 

(C) Bሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰మ

(dlሬሬሬ⃗ × r⃗) 

(D) dBሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰మ

(r⃗ × dlሬሬሬ⃗ ) 

 81. ck;ks&lkoVZ fu;e ds vuqlkj] /kkjkokgh 

pkyd ds dkj.k pqEcdh; {ks= dk O;atd 

gksxk % 

(A)   dBሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰య

(r⃗ × dlሬሬሬ⃗ ) 

(B) Bሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰య

(dlሬሬሬ⃗ × r⃗) 

(C) Bሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰మ

(dlሬሬሬ⃗ × r⃗) 

(D) dBሬሬ⃗ = ஜబ
ସ஠
∫ ୍
୰మ

(r⃗ × dlሬሬሬ⃗ ) 

82. If Bሬሬ⃗ = ∇ሬሬ⃗ × Aሬሬ⃗  then which statement 
is not true ? 

(A)   ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(B)  ∇ሬሬ⃗ ⋅ J⃗ = 0 

(C) ୢ஡
ୢ୲

= 0 

(D) Biot-Savart Law will not be 
applicable. 

 82. ;fn Bሬሬ⃗ = ∇ሬሬ⃗ × Aሬሬ⃗  gks rks dkSu lk dFku 

lR; ugha gS \ 

(A)   ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(B)  ∇ሬሬ⃗ ⋅ J⃗ = 0 

(C) ୢ஡
ୢ୲

= 0 

(D) ck;ks&lkoVZ fu;e ykxw ugha gksxkA 
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83. Which is correct expression of 

magnetic vector potential ?  

(Kሬሬ⃗ ∶surface current density; 

J⃗ ∶volume current density) 

(A)   Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୍ ୢ୪ሬሬሬ⃗

୰
 

(B) Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୏ሬሬ⃗  ୢୱ
୰

 

(C) Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୎⃗ ୢத
୰

 

(D) All above 

 83. pqEcdh; lfn’k foHko dk lgh O;atd dkSu 

lk gS \ ¼Kሬሬ⃗ ∶ì”Bh; /kkjk ?kuRo; J⃗ ∶ vk;ru 

/kkjk ?kuRo½ 

(A)   Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୍ ୢ୪ሬሬሬ⃗

୰
 

(B) Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୏ሬሬ⃗  ୢୱ
୰

 

(C) Aሬሬ⃗ = ஜబ
ସ஠

 ∫ ୎⃗ ୢத
୰

 

(D) mi;qZDr lHkh 

84. What will be the ratio of magnetic 

fields due to a circular current 

carrying coil at its centre and point 

of inflexion ? 

(A)   2 : 5 5  

(B) 5 5  : 8 

(C) 8 : 5 5  

(D) 4 : 5 5  

 84. òÙkh; /kkjkokgh dq.Myh ds dkj.k blds 

dsUnz ,oa ufrifjorZu fcUnq ij pqEcdh; {ks=ksa 

dk vuqikr D;k gksxk \ 

(A)   2 : 5 5  

(B) 5 5  : 8 

(C) 8 : 5 5  

(D) 4 : 5 5  

85. The magnetic field at distance ‘r’ 

due an infinite long linear current 

carrying wire having current ‘I’ is :  

(A)   B = ஜబ
ସ஠
⋅ ୍
ୖ
 

(B) B = ஜబ
஠

 ୍
ୖ
 

(C) B = ஜబ
ଶ஠

 ୍
ୖ
 

(D) B = ஜబ
ଶ
⋅ ୍
ୖ
 

 85. /kkjk ‘I’ okys vuUr yEckbZ ds js[kh; 

/kkjkokgh rkj ds dkj.k nwjh ‘r’ ij pqEcdh; 

{ks= dk eku gS % 

(A)   B = ஜబ
ସ஠
⋅ ୍
ୖ
 

(B) B = ஜబ
஠

 ୍
ୖ
 

(C) B = ஜబ
ଶ஠

 ୍
ୖ
 

(D) B = ஜబ
ଶ
⋅ ୍
ୖ
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86. An infinite long solenoid has n 
number of turns per unit length 
and radius R. If current ‘I’ is 
flowing through it then what will 
be magnetic field strength at its 
one end ? 

(A)   ஜబ୬୍
ଶୖ

 

(B) ஜబ୬୍
ଶ

 

(C) μ଴nI 

(D) ୬୍
ଶ

 

 86. ,d vuUr yEckbZ dh ifjukfydk ds ,dkad 

yEckbZ esa n pØ rFkk f=T;k R gSA ;fn 

blesa ‘I’ /kkjk izokfgr gks jgk gks rks blds 

,d fdukjs ij pqEcdh; {ks= ‘kfDr fdruk 

gksxk \ 

(A)   ஜబ୬୍
ଶୖ

 

(B) ஜబ୬୍
ଶ

 

(C) μ଴nI 

(D) ୬୍
ଶ

 

87. If a magnetic dipole has magnetic 

moment Mሬሬሬ⃗  then what will be the 
magnetic field at large distant axial 
point ? 

(A)   Bሬሬ⃗ = ஜబ
ସ஠
⋅ ୑
ሬሬሬ⃗

୶య
 

(B) Bሬሬ⃗ = ஜబ
ସ஠
⋅ ଶ୑

ሬሬሬ⃗

୶మ
 

(C) Bሬሬ⃗ = ஜబ
஠
⋅ ୑
ሬሬሬ⃗

୶య
 

(D) Bሬሬ⃗ = ஜబ
ଶ஠
⋅ ୑
ሬሬሬ⃗

୶య
 

 87. ;fn pqEcdh; f}/kqzo dk pqEcdh; vk?kw.kZ Mሬሬሬ⃗  

gks rks blls vR;f/kd nwjh ds v{kh; fcUnq 

ij pqEcdh; {ks= D;k gksxk \ 

(A)   Bሬሬ⃗ = ஜబ
ସ஠
⋅ ୑
ሬሬሬ⃗

୶య
 

(B) Bሬሬ⃗ = ஜబ
ସ஠
⋅ ଶ୑

ሬሬሬ⃗

୶మ
 

(C) Bሬሬ⃗ = ஜబ
஠
⋅ ୑
ሬሬሬ⃗

୶య
 

(D) Bሬሬ⃗ = ஜబ
ଶ஠
⋅ ୑
ሬሬሬ⃗

୶య
 

88. The magnetic scalar potential at 
polar co-ordinates (r, θ) due to a 
magnetic dipole having M 
magnetic dipole moment will be 
proportional to :  

(A)   ୑ୡ୭ୱ஘
୰

 

(B) ୑ୡ୭ୱ஘
୰మ

 

(C) ୑ୡ୭ୱ஘
୰య

 

(D) None of above 

 88. pqEcdh; f}/kqzo vk?kw.kZ M okys pqEcdh; 

f}/kqzo ds dkj.k /kqzoh; funsZ’kkad (r, θ) ij 

vfn’k pqEcdh; foHko vuqØekuqikrh gksxk %   

(A)   ୑ୡ୭ୱ஘
୰

 

(B) ୑ୡ୭ୱ஘
୰మ

 

(C) ୑ୡ୭ୱ஘
୰య

 

(D) mi;qZDr esa dksbZ ugha 
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89. The two infinite length of equal 
current carrying wires experiences 
8 × 10ି଻N force on its unit length. 
Find the current in each wire if 
they are separated by 1 m 
distance?  
(A)   1 amp 
(B) 2 amp 
(C) 3 amp 
(D) 4 amp 

 89. nks vuUr yEckbZ ds leku /kkjk j[kus okys 
rkj vius ,dkad yEckbZ ij 8 × 10ି଻N 
dk cy vuqHko djrs gaSA ;fn buds chp dh 
nwjh 1 ehŒ gks rks izR;sd rkj esa /kkjk dk 
eku Kkr dhft,\  
(A) 1 ,fEi;j 
(B) 2 ,fEi;j 
(C) 3 ,fEi;j 
(D) 4 ,fEi;j 

90. What is the ratio of magnetic fields 
at inside axial point and outside 
point of an infinite long current 
carrying solenoid ? 
(A)   ∞ 
(B) 0 
(C) 1 ∶ 2 
(D) 2 ∶ 1 

 90. ,d vuUr yEckbZ ds /kkjkokgh ifjukfydk 

ds vkUrfjd v{kh; fcUnq rFkk cká fcUnq ij 

pqEcdh; {ks=ksa dk vuqikr D;k gksrk gS \ 

(A)   ∞ 
(B) 0 
(C) 1 ∶ 2 
(D) 2 ∶ 1 

91. What will be the direction of 
produced magnetic field at 
position r⃗ from a moving charge 
with velocity vሬ⃗  ? 
(A)   Along r⃗ 
(B) Along vሬ⃗  
(C) Along vሬ⃗ × r⃗ 
(D) Along r⃗ × vሬ⃗  

 91. osx vሬ⃗  ls xfr’khy vkos’k ls fLFkfr r⃗ ij 

mRiUu pqEcdh; {ks= dh fn’kk D;k gksxh \ 

(A) r⃗ ds vuqfn’k 

(B) vሬ⃗  ds vuqfn’k 

(C) vሬ⃗ × r⃗ ds vuqfn’k 

(D) r⃗ × vሬ⃗  ds vuqfn’k 

92. Which statement is not true for 
outside point to the current 
distribution ? 
(A)   Bሬሬ⃗ = −∇ሬሬ⃗ ϕ୫ 
(B) ∇ଶϕ୫ = 0 
(C) Magnetic field is rotational 
(D) Magnetic scalar potential is 

not function of solid angle 

 92. /kkjk forj.k ds ckgjh fcUnq ds fy, dkSu lk 
dFku lR; ugha gS \ 

(A)   Bሬሬ⃗ = −∇ሬሬ⃗ ϕ୫ 
(B) ∇ଶϕ୫ = 0 
(C) pqEcdh; {ks= ?kw.khZ; gksrk gSA 
(D) pqEcdh; vfn’k foHko] ?ku dks.k dk 

Qyu ugha gksrk gSA 
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93. A circular current carrying coil has 
radius R. What will be the distance 
between points of inflexions 
regarding its magnetic fields ? 
(A)   R 
(B) R

2ൗ  
(C) R

3ൗ  
(D) R

4ൗ  

 93. ,d òÙkh; /kkjkokgh dq.Myh dh f=T;k R 

gSA pqEcdh; {ks= ds lUnHkZ esa] blds ufr 

ifjorZu fcUnqvksa ds chp dh nwjh D;k gksxh\ 

(A)   R 
(B) R

2ൗ  

(C) R
3ൗ  

(D) R
4ൗ  

94. What does provide the surface 
integral of electric current density 
ȷ⃗ ? 
(A)   Charge 
(B) Charge density 
(C) Electric current  
(D) Magnetic field 

 94. fo|qr /kkjk ?kuRo dk ì”Bh; lekdyu D;k 

nsrk gS \ 

(A) vkos’k 

(B) vkos’k ?kuRo 

(C) fo|qr /kkjk 

(D) pqEcdh; {ks= 

95. Both Helmholtz coils have radius 
R. What is the distance from each 
coil to their common central axial 
point ? 
(A)   0.5 R 
(B) R 
(C) 2R 
(D) 1.5 R 

 95. nksuksa gsYeksYV~t dq.Mfy;ksa dh f=T;k;sa R gSA 

buds mHk;fu”B e/; v{kh; fcUnq] izR;sd 

dq.Myh ls fdruh nwjh ij gksrs gSa \ 

(A)   0.5 R 
(B) R 
(C) 2R 
(D) 1.5 R 

96. Which equation justifies that 

mono-magnetic pole can not exist? 

(A)   ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(B) ∇ሬሬ⃗ × Bሬሬ⃗ = 0 

(C) ∇ሬሬ⃗ ⋅ Bሬሬ⃗ = 0 

(D) Bሬሬ⃗ = ∇ሬሬ⃗ × Aሬሬ⃗  

 96. dkSu lk lehdj.k fl) djrk gS fd ,dy 

pqEcdh; /kqzo ugha gks ldrk gS \ 

(A)   ∇ሬሬ⃗ × Bሬሬ⃗ = μ଴J⃗ 

(B) ∇ሬሬ⃗ × Bሬሬ⃗ = 0 

(C) ∇ሬሬ⃗ ⋅ Bሬሬ⃗ = 0 

(D) Bሬሬ⃗ = ∇ሬሬ⃗ × Aሬሬ⃗  
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97. Which one is the correct 
expression of scalar magnetic 
potential ?(I : electric current; Ω : 
solid angle) 
(A)    ϕ୫ = ஜబ୍

ଶ஠
 

(B) ϕ୫ = ஜబ୍
ଶ஠
Ω 

(C) ϕ୫ = ஜబ୍
஠
Ω 

(D) ϕ୫ = ஜబ୍
ସ஠
Ω 

 97. vfn’k pqEcdh; foHko dk lgh O;atd dkSu 

lk gS \ ¼ I : fo|qr /kkjk; Ω : ?ku dks.k½ 

(A)    ϕ୫ = ஜబ୍
ଶ஠

 

(B) ϕ୫ = ஜబ୍
ଶ஠
Ω 

(C) ϕ୫ = ஜబ୍
஠
Ω 

(D) ϕ୫ = ஜబ୍
ସ஠
Ω 

98. Which physical quantity is 
obtained by line integral of 
magnetic strength over a closed 
loop ? 
(A)   Electric current 
(B) Magnetic field intensity 
(C) Magnetic flux 
(D) Current density 

 98. ,d cUn ik’k ds fy, pqEcdh; ‘kfDr ds 
js[kh; lekdyu }kjk dkSu lh HkkSfrd jkf’k 
izkIr gksrh gS \ 
(A) fo|qr /kkjk 
(B) pqEcdh; {ks= dh rhozrk 
(C) pqEcdh; ¶yDl 
(D) /kkjk ?kuRo 

99. What is the correct relationship 
among the quantities magnetic 
field Bሬሬ⃗ , magnetic field strength Hሬሬ⃗  
and magnetization Mሬሬሬ⃗  ? 
(A)   Bሬሬ⃗ = Hሬሬ⃗ + μ଴Mሬሬሬ⃗  
(B) Bሬሬ⃗ = μ଴Hሬሬ⃗ + Mሬሬሬ⃗  
(C) Bሬሬ⃗ = μ଴൫Hሬሬ⃗ + Mሬሬሬ⃗ ൯ 

(D) Bሬሬ⃗ = μ଴൫Hሬሬ⃗ − Mሬሬሬ⃗ ൯ 

 99. pqEcdh; {ks= Bሬሬ⃗ , pqEcdh; {ks= ‘kfDr Hሬሬ⃗  rFkk 

pqEcdu Mሬሬሬ⃗  jkf’k;ksa ds e/; lgh lEcU/k D;k 

gksrk gS \ 

(A)   Bሬሬ⃗ = Hሬሬ⃗ + μ଴Mሬሬሬ⃗  

(B) Bሬሬ⃗ = μ଴Hሬሬ⃗ + Mሬሬሬ⃗  

(C) Bሬሬ⃗ = μ଴൫Hሬሬ⃗ + Mሬሬሬ⃗ ൯ 

(D) Bሬሬ⃗ = μ଴൫Hሬሬ⃗ − Mሬሬሬ⃗ ൯ 

100. The magnetic dipole moment per 
unit volume remained at zero 
external magnetic field in 
ferromagnetic material is termed 
as : 
(A)   Magnetic permeability 
(B) Magnetic susceptibility 
(C) Coercivity 
(D) Retentivity 

 100. ykSg pqEcdh; inkFkZ esa ‘kwU; cká pqEcdh; 
{ks= ij vo’ks”k ,dkad vk;ru ds pqEcdh; 
f}/kqzo vk?kw.kZ dks dgk tkrk gS % 
(A) pqEcdh; ikjxE;rk 
(B) pqEcdh; lqxzkfgrk 
(C) fuxzkfgrk 
(D) /kkj.k’khyrk 

****** 
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Rough Work / jQ dk;Z 
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Rough Work / jQ dk;Z 
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correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


